Spiral Review:

1. Use the right triangle to the right,
label the side opposite <A with an "O", the

side adjacent to <A with an "A", and the P\ ‘—\
hypotenuse with a "H".

B C

2. Use the right triangle to the right,
label the side opposite <P with an "O", the P Q

side adjacent to <P with an "A", and the |
hypotenuse with a "H". H D

R

HWQ: Parabolas (Day 1)
Write the standard form of the parabola.

1) focus: (0,4) 2. directrix:y =95
vertex: (0,0) wertiex: {(0,0)

Find the vertex, focus, and the directrix.

3. y?+6y +8x +25 =0



p.636 4.1 Parabolas (Day 2)

(x-h)* =4ply-K)

*openhs up or down
directrix:y = kK-p
focus: (h, kK+p)
vertex: (h, K)

(Y - K)? = 4p(x - h)
*opens left or right
directrix: x =h-p
focus: (h+p, K)
vertex: (h, K)

Students will be able to find the standard form of the equation of
the parabola.

Example 1: Find the standard form of the equation of the
parabola with the given characteristics.

h k X gj
a.) vertex: (8,4); passes through points (0,8) and (0,0

v (g—k)-—q?(*‘ﬂ (R “)
(0-4)=4pl0-3) L(g—q)va %)




Students will be able to find the standard form of the equation of
the parabola.

b) vertex: (3,-3), focus (3,-9/4)

KB (xh=40
" (%-3= 4(‘3’)(%"3)

Ef v @(-?W: 3|

Students will be able to find the standard form of the equation of
the parabola.

c.) vertex: (-1,2); focus: (-1,0)

(x=1) = 473 (y-)
T @GD’E -3(y3)

-1 a+
ap=0’ P

p=-a



Students will be able to find the standard form of the equation of
the parabola.

d.) focus: (0,0); directrix: y = 8

X (- WY =4ply-b)
Ao (X- DY= '-|'""\(.l5-®

— [Eb(g— )

Students will be able to solve applied problems involving
parabolas.

Example 2: Applications

a.) A parabolic lattice arch is 8 feet high at the vertex. Af a
height of 4 feet, the width of the lattice is 4 feet. How wide is
the lattice arch at ground level?

wetex (0,8) i o
for=iply) D =4('"=i(‘%'9 a/A\od
@-0y=4p(1-%) X=-ly%) =
=4pC4) ¥ -(0-%) Vo 298
4=~lbp IR
P=-g =talR Width=23204 28R

(Width= 5.086Ft )




Students will be able to salue applied problems involving

parabolas. . # See PfL'?"VfC in bwy_

b)) Roads are offen desighed with parabolic surfaces to allow
for rain to draih off. A particular road is 32 feet wide is 0.4 foot
highter in the center than it is on the sides.

wrec (00)  pinks Elo) (15-4)

a.) Find an equation if the parabola with its vertex at the origin

that models the road surface. Q(.o)%:l.}(-lwxg'())

(l-0)*=p(- 4-0)
3= 'l?bp

=-lbd
b) How far from the center of the road is the road surface
0.1 foot lower than the middle.

X= -y X=:3
-l feet

T

Turn-in: p.644 (82, 100)

HW: p.644 (79-84, 47-103 odds)



